Integration by Parts

Use integration by parts (in conjuction with other integration techniques you already know) to
solve the following integrals:

™/ Ke [Me e 2% 1Ko
L. f GE ccos(3x)de — A SN 3% {aﬂ Sin %‘Kd% sin 575 {:0 l
i 2y Jo B 3 9y

w= % dveces Bxdx I
du=dy v =S 3 - Teon ™t wsVT- %K
= Tq  a®]

. 3 0L 3 3 3 |%
2./:6 Inzde = é:'gﬁ“ﬁ\\ g A d‘”?( 1\1’17(”3’””&

3%

1 \ ° A ‘
Wl deektdy B o1l
- 8 - % L E 81 - 3: |
du %gg V;%?‘ ) o2 ‘ﬁ% 4 \?_\E ?: j_ik

3. /Tr/2($2 4 2z) -cosx dx = L?Sz”f ?_:'75\)31'(17(\ .
0
uAelA Qo LS o e v s = oo me PRS- T \&{2
duldasDax V= S0k du= 24y Uo- W@“f\ ag]m»z—z

0

o [cten mw*:ﬂ} 5761 mnﬂ f:ri-—dm “ﬁ{an"x& Saliel]
'ﬁ«

A . d—f«ﬂi (. 0\
e L?m 5 dvedy e iotn _ P_g ~ imq
AUk i.:;; di V< % We HR: due Tady L{ Mg;,m i
5. jcosa:-ln(sinm) dr * j \‘(L\U«)d\f\ \n‘ - & C\\A U\‘Y\‘J\ UH Q \m“g\h AT
st subshiwtion fiesh:  Indbgratoniy paris: Wb Fack

N* : (n
W=sing Qw0057 welny  dy=ida
dw= J@dv\, Vo

I e
Ay z
o g IW«?)&MMM it (ﬁj*(l?&)‘omMZwQ)(mL j ALY Aiys




o

e /90 %

| Rinountymerds:

Tnitgation by Facts: Worksheer Y
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Recalls Cos?%= l-sin*x .
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